
12X

21X

5 1X

61X

3 4X 7 4X4 4X

9

REMOVE OEM CONSOLE OR CENTER SEAT 1.
DEPENDING ON TRIM LEVEL EXPOSING THE  M12-
1.75MM MOUNTING LOCATIONS.

 
USE (4) M12-1.75MM X 20MM BOLTS AND 2.
WASHERS TO FASTEN THE MOUNTING 
BRACKETS TO THE TUNNEL. 

SLIDE (4) 1/4"-20 X 3/4" BOLTS INTO THE LOWER 3.
SLOTS ON THE HAVIS TRAK.

 
ALIGN BOLTS WITH THE INNER SLOTS ON THE 4.
MOUNTING BRACKET AND USE (4) FLANGE NUTS 
TO LOOSELY SECURE HAVIS TRAK TO MOUNTING 
BRACKETS. 

[OPTIONAL] SLIDE REAR TRIM PANEL UNDER 5.
MOUNTING BRACKETS, ALIGN BOLTS TO (2) 
CENTER SLOTS.

ALIGN HAVIS TRAK IN DESIRED LOCATION AND 6.
SECURE ALL HARDWARE.

BEFORE INSTALLING END CAPS, SLIDE 7.
HARDWARE TO MOUNT OTHER EQUIPMENT INTO 
THE UPPER SLOTS ON TRAK.

REMOVE LINERS FROM ADHESIVE TAPES AND 8.
INSTALL ENDCAPS ONTO HAVIS TRAK

INSTALLATION INSTRUCTIONS:

HARDWARE KIT CONTENTS:

LINE QTY. ITEM 
NUMBER DESCRIPTION

1 2 11313 KIT, TRAK MOUNT GASKET AND END CAP
2 1 12969 8" WIDE TRAK MOUNT 28" LONG
3 4 16013 NUT 1/4-20 HEX FLANGE SERRATED ZP, BLK
4 4 16128 HRDW, WSHR, FLT, 7/16 USS ZP
5 1 23411 BRKT, TRAK MOUNT, 2021 TAHOE 9C1
6 1 23412 BRKT, TRAK MOUNT, 2021 TAHOE 9C1
7 4 23727 SCR,M12X1.75-20,HX,H,ST

9 1 25348 BRKT, REAR TRIM PANEL, TAHOE TUNNEL 
MOUNTS

PRODUCT DESCRIPTION

WEIGHT: (LBS)WEIGHT: (LBS)WEIGHT: (LBS)

DRAWING NO.

REV. DATE
5-10-2022

ASSY, TRAK MOUNT, 2021 
TAHOE

WARNING:  ALL HAVIS INC. PRODUCTS ARE DESIGNED WITH SAFETY OF USE AND INSTALLATION IN MIND.  HOWEVER, 
IT IS THE SOLE RESPONSIBILITY OF THE OWNER/OPERATOR OF A VEHICLE USING HAVIS INC. MOUNTING AND 
DOCKING EQUIPMENT, TO INSURE THAT THE EQUIPMENT IS INSTALLED SO THAT IT WILL NOT INTERFERE WITH VEHICLE 
OPERATION, INTERFERE WITH SAFETY DEVICES, OBSTRUCT VIEW OF DRIVING CONDITIONS, OR IN ANY WAY 
DEGRADE OCCUPANT SAFETY.  IMPROPER INSTALLATION CAN CAUSE SERIOUS INJURY IN THE EVENT OF AN 
ACCIDENT.  INSTALLATION SHOULD ONLY BE PERFORMED BY QUALIFIED PROFESSIONALS.  COMPUTERS AND 
MOTION DEVICES MUST BE MOVED TO AND STOWED/SECURED IN THEIR SAFE DRIVING POSITIONS BEFORE 
OPERATING VEHICLE.

22.382

WWW.HAVIS.COM
1-800-524-9900

F-730-019 REV B

10-011188


	Sheet1
	Drawing View1


